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Client Question

Sr. No. D

Question Body and Alternatives

1 1 Special personal habits and interests are :
seollFQaFMlayenL W SeoflLL L Lp&SLID MHMID QF6V6UTEE 6TeTLISI.

AL Talents, Skills, hobbies
LD6OTS BT, QFWeLH LD, Nl BLILI Gelemen
2 description of mannerisms

QFWMHeN&G SeoflLILIMHIE LMW LIevorL|[H
,A3 Attitudes of a person
Q(HEUTSI LDGUTLILITET6mLD

4 general occupational adjustments
QugleureT Q&M gIenmuile) BlasHerm @engailli]
2 2 The process of bringing internal as well as external bodily changes is called as the development.
2 Lym wmHoib QeueflliLm 2 L6 InMTHMmEIGET eThUBGeUs  eueMiEFR eTerT Semp&&LILGRMSI.

Cognitive

<ipley

‘,/\2 Emotional

LDETQ6U(WEFR

A3 Physical

2 L6y
4 Social
FONG
3 3 The chief techniques of motivation :

26155 & 61 & &6 (HERW 2 G 6T6iTMl eMLp&&LILIG IS :

_Al Attention and Interest
SHeUeTLD MM efl@LILID
52 Interest and Direction
af@®LUIULD MHMID eu&TL L6y
53 Learning and Attention
SHMHM6L LDMHMILD &H6U6ITLD
?A4 Motive and Attention
2618810 OMHMILD &6UeTLD
4 4 "Educational psychology is that branch of psychology which deals with teaching and learning" said by :
”a;;ji])aﬁl 2 aTeiluiey eTedTLIGI &ML G S 60-&MHMeVI& & Mt QG TLT60L QUG (@ alemd 2 6malllic” 6Teord:
Famlwely :

1 Crow and Crow
G&GImel LDHMID GBI ey
Skinner
6N B GOTEuT [}

53 Peel
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5 5
6 6
7 7
8 8

e

LFev
54 Marquis
LTI & W6

An error in perception which has no basis in a real sensory stimulus is called

62(1H L|6VetTM6) (LD 2460TSI 6T TS 6UT(H 2_6T0T6H LOITEOT STET0TL 6V L|6VEDI600T 6 {19 LILIEMLWIMHMS) eTevil6L &

:Al Illusion
FALUGSETLR
52 Sensation

L|6V60T 2_60oTT6Y
"A3 Hallucination

@60 QUITHET HITLF
A4

Imagination

FTWLIEVITSH6V

Two factor Theory is advocated by :
@ &ryeoll GaTLUTLemL (eTQmdBeeu :

AL E L Thomdike

E.L. STJeuoTenL &

62 Guilford
FLsCUITTL
‘,/\3 Spearman

s lwiFoesr
A4 Thustone

55610 L_60T
Who is the author of the book entitled "The Achieving Society” ?
"FMHGGLD FUWSTWLD (The achieving society)" 6T60TM HTEDI6V TR UWIGUT WM ?
fM David Ausubel
CLIL @pevLIew

52 Abraham Maslow

< Lgammib LmevGeur
.A3 David McClelland
CLL QD& Q& 6VeV6ITL
64 B.F. Skinner
9.6t erv & etreory

Who identified the four sequential steps in observational learning ?

2 MM GBEMEHEE6 HMHMEN6) 2 _6T6T HITETNE LI K 601608 606 &600TL MBS :
AL Miller
Sleveury

fAz Dollard

LeumyL
53 Woodsworth
2 Leis
’_A4 Bandura

Uest®om
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Hostilities often arise when groups for scarce jobs, housing or resource.
UMHOTE GenmuwmeT Caleneaugar, afl () eusFD 2(6V6vEI QUETSH M&TS & (DS EH 5 E6T LB
2195819 NG TS MBIGET 6T(LDG 60T M6

:Al Co-operative

R&HSIEMLPLILIMTE
2 Compete
GUITLIgUImeL

'A3 Conflict

CUITIMLLS&M6L
64 Compare
@UILT L mev
In stage of development, an individual becomes much better at analyzing the function a word performs in a sentence.

Blemev GLODUITL 1960 S0l BLIT 626 6UTEHER UG H 6V 62(H G FMEVEVITETS 6T616UEM S WIMS QFWeLI(HILD
GTGOTLIG 6M60T LIGS S MW LD HmerQ LIS M.

{\1 Later childhood

L9657 GLpHen S LILIBeILD

'AZ Youth

@ 6TemLILIHeILD
‘:\3 Adolescence
GLIULHeULD
A% Adul

WHIHS

Behaviourists ignore the factor of

BLSMS UL abI&eT SalljHs &Tiyeuof]

1 .
Environment

Gpplemey
62 Heredity

gy

"A3 Behaviour
BLE®S
4 Personality
3 EH60IL0

According to Freud, the moral development of a child is completed by age :

SUTmU eredrLeufler ammiLILIg @ GLLHmSUNGT (W& CUT(H E)bS WSV (DI aIm LRSI
Al
4
A
6

A g

Emotions like fear, angry and jealously belongs to category.
LI, G&TULD LMHMI QUITMTEnLD GLITETM LDETE6U(DEH &H6T —— eUen&HmWE EMTHSS!.

Al Positive emotions
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GBI LMD LOETAWER
:Az Negative emotions
TEFMD LETAWES
3 Neutral emotions
B BIE6 LT WHEF G
4 Pseudo emotions
QUITUIWITEOT LOETQ6U(WEFR

Bad recreational media is a cause of delinquency.
GLOMELDTET QUMW SICLIME @ 26TL_G1D QBMILIMLD BLEMS GDHOSH MG SITFEuTLD & LD.

! Family
&G WU
62 Personal
Seoflul L
3 .
Environmental

Gipev
‘,A4 School related
Ueiterfl Q&ML LIMm6oT

In , examinees attempt to solve picture puzzles.
Cxia&S 2L UG LT eLpeULh (WM QFWE UL BES S6y smesoru.
! Picture Completion

LILTBI&6m6T Blemme| Q& g6

A2 Object assembly

QUMBETHEMET HTL B SH6V
3 Picture arrangement

UL mI&emeT alflen& LG S5 SH60

64 Digit symbol

ereoor GMIuT )

According to Hippocrates the human body consists of types of fluids.
1n6of1% 2_LeuenTgl QUM S B JEUMIHED6ME C1&MeuorL_ gl 6Teor @MlLIGLITRCTL 6N aUemTW ISR MTH.

Al y

4
A2 s
5
A g

9

Piaget calls simple programmes as and more complicated ones as operations.

LNwim@e ererfl g menT [ 8Lh & &) & 6merm 6TGUTEY LD &L 6OTLOITEOTAU HENME Q& WL LIM(H&ET 6T6dTmILD
SIDPEEMTH.

_AI Accommodation

QUIT[HS SIS 6V

2 s
Assimilation
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SeTeull LI & 81 H60
53 Schema
VG

4 Equilibrium

FplemeILOS SIS0
18 18 When anger is expressed outwardly in the form of aggressive activity, there is increase in the secretion of .
CHMTUG MG 2,8 CITagLOMET [HL 618 & &6fle QelefiL®GSSIDELTS SrUufesr sy
2195 f&GLD.

! Adrenal gland

3L_ifeoTev
52 thyroid gland
@FHTTUG
;A:; gonads
@& MeuTITL 61V
Ad

pancreas

Lmedr & fluimeny
19 19 is the highest level of learning.
ETOTLISI &HMHMEd 6T 2 F&Bleney 3L, G LD.

AI Creating
2ESS
.AZ Reasoning

STT600T LILI(H & B 560

A3 Evaluating

WHLILIH S6v
_A4 Logic
Y1 -0
20 20 Psychology is the scientific study of the activities of the individual in relation to his environment.

SeofIBLIGM LW GLoa&ameT 2 meile &eaflBLHL L Q& W& el Teunms LigLILGCE 2 erailuley
21,GLD 676018 G MlWIGUT :

fM N.L. Munn

6TE0T.6T6L. (LD 6OT
fAz Crow and Crow
&CImey LOMMILD &Gl
53 Woodworth and Marquis
2 LQaIfS LoMMILD LOMTF& W6
54 B.F. Skinner
L9.6Te L. erv &\ 6oTeuTI
21 21 Which one group of individuals come together naturally without previous planning ?
(PTI98 FLL AL 6L @eeuMnCICW 6THS eUeM&EHE & (WelleT 6iTm CFIeUTTHET ?
1 Organized group
penDWmer &
2 Spontaneous group

S UNeLauT &G

3 Formal group
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23

24

25

22

23

24

25

WODETT G
4 Informal group
[CLEIV DI NGICH
Development is influenced by .
QUETIEF& & SevoT(HGeLTdH @B LILISI
! Heredity and maturity
Iy OO WETER
2 Maturity
WHTES
_A3 Maturity and Learning
WHFFR HYID HHOD
4 Learning
&HHM6L
The teacher has to face a class of 30 to 50 students who have a great range of differences in :

30 (B6L 50 aUemTUNGVITEDT LDTEUOTEU TG EBEn L @ eU@GLenL P Wy FhH &G0 Cumas el Quiflw
Caumiur(h efFF6L LIS ?

fM Gender

umedleoTLd
52 Age
[SIVEES]
_AS Physical

2 L6y

A4 Individual

S eoflWmeT

Which one of the following decides the selection of stimuli ?

G Lp&euoTLaUMNIl6V 6THI SMevorL_6v CHFemal Gilnmefl&E&Hma! 2

fM Interest and Attitude
A@BLILILD MHMILD LO6OTLILIMETenL0
.AZ Attitude and Attraction
LD6OTLILIT6OTEmLO LM MILD FFTLILY
;A:; Interest and Attraction
af@®LILLD MH/MID FFLIL

4 Important and Attraction

WEHESH WSS InHMID FILIL

The addition of Law of use and the Law of disuse give the :

LweTum(® NS LoHoild LweTULT ellSH el 626k G emetord: & HlemL @G G :

,AI The law of exercise
LWIHA 98
..AZ The law of readiness
WSS F

_A3 The law of attitude
LeriLmeTenio eil&)
54 The law of effect

aflemere] el
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26 26 Teacher Eligibility Test conducted for teachers is an example for :
2ANWIHEp6EE, BANWT 56DS Coi6 BLHSIUS Qbs CST6|sSTer 2 HTTemmid ;

| B
Criterion referenced

2|6TEYBSMTEL FMTIHS

52 Norm referenced

QBUlWweD FEMhs
63 Standard referenced
ST FTTHS
4 Equivalent referenced
FLOBleM6V FMHHS

27 27 Girls are more jealous than boys in the classrooms, because of :
QG LILIME6fl60 2_6T6rT LD MEuoT6al [J 8 em6Tds SMTL 19 vllh LoMeooTel&6T SIF& GILITMITEmLO UL 60T @)[H &G 6T eor,
JQeTenflev :

fM Gender bias

umeSleorLl LIm@Um@

A2 .
.~ Preferential treatment

W flemLn 21EmIG WD
;A3 Unfavourable comparisons
FIs&ELMHM @ULIH&6T
64 Dependence
FMIUS SHeTenln

28 28 The problem solving behaviour of an individual depends on :

26Ul P& HENETHE) LSS 6T60S QUITHS SIS ?

:Al Awareness

el eoT ey
A2 Atiitude
LD6OTLILITE0T60L0
‘:A3 Aptitude
BITLLLD
'A4 Mental set
L0 6T [Blevrsv

29 29 To prevent maladjustment in the classroom, teachers can

agLliuammuiley QBMILImDene H &S, P fWFEH6T :

‘:Al Be kind to the particular student
9ibG LomevoreuflLLD eTLITE: @)([HESH60
2 Develop positive attitudes among all students
6TELBVIT LOMGuOTEU & 6L (LOLD GIBITL0E0YM LOEDTLILIMEIT6mLO6mUL Q) 6T T8 560
A3 Give gifts to the abnormal child
SAETSTTOT GSPHNSES LlFefls s
‘_A4 Be strict with everyone

6UG MBI (LOLD &L 60TIOME BLHS! G5 METEH %560

30 30 Choleric' personalities are :
"AH(LOSLID’ SLEBEMLD 2 6L WLIGUTSHET :

Al Emotionally weak but bodily strong
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31

32

33

34

31

32

33

34

L6TQaIWEFFUN6L LieveTerid oL6Tmev 2 L evemaileh LIGUID 2 60 W6l & 6T

52 Bodily strong and Emotionally stable

2 Levamailey Liuh LoMmMILD LDETE6 (W ERUNSILD [B]6m60 WL TEOTE 785 6T

53 Emotionally as well as bodily weak

LDETQEU(WESR LDMMILD 2 L 6b FRWMSHELD LI6vaT6or L0 meuTeu 785 6T

"A4 Emotionally strong but bodily weak

LOETQ6UWER U6 LieupLd 2 L sverailey LieuaTerid 2 6Temeufg6i.
LmBTenm 2 .Gal.&m aume &F e LGNS QeueflulL il L oue0r®) :
Al 1304
AZ 1704
A3

1498

A% 148

LML QBTG (LNS6V (D196 a6y CHITEHG QLITIHET Q& TETEHLOTM {eMIDaIS) :
Al . . . .
: BlT6L BlemmLl QUITHETCS MeT

_Az Q&MeuoT(H ol (BH)LI QLITH6T G856t

f\3 SpHmi BT QUTHET Go el

:A4 ST T QUITHET & meT

“euelterfl LILQ &5 6016 — ©)6V &8 600T& GSMILIL] &5,
jM aNeneTQWIFFID

éz WHeMEFFLD
A3 - -
: G QUWATEFFID

:A4 QUWEIEFFID

umgsLefl, UTFsesall L&MW @ sLh&safler A lwrmssl ueollyflbg el wry 2
Al oo . ,
7 660608 &5 6v0T6ETOTEOT
A2 .
NG RER JTeE&ImUImeV6oT

:A3 QQUWIGITIHS 60T

A4 g0 &
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35|35 aueiTem LD UNEVEMEUBWITT sumienLn WiaTenwmh Blevorenio L6leneuGWITH QEMH KleTenLowmey

—etebTy AL NS &HLILMID BT,
Al Goniiss Be
:Az Q&6OTLITEvOTLY. BIT(H)

,A3 Camgemney BTH

,A4 Gamip euer BT

36 |36 QUTBHSSLOMM G emetoTenllsd CHIHRHH &S] LWD.

Al - .
. a6l — Geullb&meoT

53 LIMT6V — LIHS) 60T TedT
A4 . .
. GFeuev — Fneld

37|37 24, GEDTE06V 6001158 LOETETERT WITIT?

fM G&FyedT

fAz G&F ML 60T

A3 . 0
. LImeooT L Ul 60T

,A4 afleguwiedr

38 |38 & DL BCW 2 Ul TS SIs6T QFTevedleT @enLudley aupLd.

_Al 2 ulFQLol

52 6L

A3 . .
. eHOlwaisTb

,A4 UFEH GMI&HHD

39 39

GBHM + @) T6Y 6TeTLIS M6 CFIHOSH (WSS RemL @G QF Ty

Al .
. Gmho @uey

A2 epHMIey
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A3 .
o ephoire

A4 .
. GBO @rey
40 40 . . . . . . . . s,
@en&, GMILIL, LIGEOTL]| 6T6dTenILD QUIT[BETHEHESE 2 WS TUl eUBLD Q&6 :
:AI QUWITFQF T

_Az allenerd Q&ML

53 QL FQ&FTeV
_A4 2 flFQ&me
41 41

(DE6TEUT &G\ TIT. T EIGBTS6T all(BS WTIHEHE eUphIGILGSR S ?

f“ FAWHS HTaIeVT
A2 . .
. Awbs eeilwy

A . .
N @ps srevs

M Qs ap@fiul

42 |42 WOHMWNISETE Q&6 6TS! ?

)

A2
LU

U g

43 |43 W.CGST FTRSHW &HTOSL eNBS QUMM BT :

Al g eimemfiiL) W sser

fAz G mpmlevr

A3 . . .
T ABHMWESISS 2G5S 6f6

54 DG LBleur

Aal ' BEG flens' eTerLIS!
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51 UL L &SI WITes)6orT

_Az @L&MS aUTSFH WD

A3
7 aremLwerey

A apBie

45 |4s "STDSHLE GeVEeNSE QFaID FHeTerGs" 6TerTd: Fn ML :

Al g & fouer

_Az efL_esvor60T

A3 .
. Sigineor

,A4 @)\ ITLO 60T

46 |46 QUMETOTL. QUTDEY

slefliss
LOEMLPGLITE eub STl B!
GTETLIS6L @) LD QUIMHMIETET 2_6U6mL0 :

Al
7 2 (B 2 e

A2 .
77 Lwest 2_6uemin
,A3 QLI 2 alemin

_A4 aflement 2_alemin

47|47 <10y Blemev Bflfetr LInfls L& TEh* erard nmild HTev T8 2
Al
' metrne

,Az Q& TS TLLIWLD

A3 . .

. wggefflun

fM afyGamdlwih

48 |8 GWTHS Semeual] BTeneT SLAPSELD BRMMT — QSESTL6 GL LD QUMHMIGTET QI(YaIEMIS) :

:Al 56016007 6U(LDEUMLOG)

{\2 LIM6L U eUemLS)

A3 QL alweuemnH
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54 HIT6V QD EUEMLDS)

49 |49 <8560 GO 60l 66T @SN BLSH) aubSeUT W ?

Al Unp@w
A2

M6l (0. CHTENSHTWS

.A3 85 600T 600T & IT&F 60T

54 ). QTET [ ITLO6DT

50 150 SrmeilL Qmds @O DL 678556 auengs W LFl&as UL G eTens ?

Al's
A2

A3

A4

st |51 FAWITET QS TLeNTE: &6vorL 5.

_AI 3|6UET @606V LINJ &5 medT

f‘z SJUIEG L119.86@GLD 6T6TLIG! 6TLILILG. QS luLD

,A3 HeT(OLD LML GG LIl

fM T SILDLILG. Q\&F MedT GeoTedT

52 |52 asHemzuiles §mHa fFH 6T STHenm CHTenL eTaTLIIT ?

Al .
. BLEG

N garse

6UMeD L
M asne

53 53 U TTET@ BITLDLI&H6M6Td: Q& TeuTL G :

,AI cuflwmp
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54 54

55 55

56 56

57 57

AZ FCHITL WITLD

_A3 I0&F WMLp

54 Q&FMBIGSHTLLY WITLH

LILDMBIGITEV 6T(LDE G ITE00T| 6160) 5 & EH6T &6UMTETS! :

.AI DL &0 & (D& G meuof]

fu G600\ & B Mevot|

_A3 AUTQ (D& & mevot]

;M FQrws g meot]

“ 3BT (LS TRSCSEV6VMD pF)
LIS6U6T (PSHMEBM 2 V&
—-@&&mLLmeley LIUNeTm aI@HLD Q&L U6t QILIWIT eTedTeor 2

,AI GLDITevY60T

A2 .
.7 @peser

A3 gz
A g@ewy

GEFIMLD S|JFE0T @) J600TLITLD & C6LITES SiMhI &6 iemeluiley (NGHEVENLDEFTTE @) (BHS6UT WITT?
Al -
o uuy

A2 . .
L EBSIY
jﬁ CFE&RPITY

_A4 L0 60011 8.8 61 MEF &S [T

"85 600T Q00T (DS SIL LI(H S 6T600TemIL | LIV LTS —6T6dTemilh LIML6ulq LIuN6ormi 6uBLD BHiT6y 6T 2
:Al FelILGH&HTTLD

Al

2 Q& MG TLILIWLD

53 L0600 GLD &5 6076V

A4 . . .
. YUmUQUITIHET G 6600 LT LOMet6V
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58

59

60

61

62

58

59

60

61

62

gLeTm Hevall; Fleu eTWGID GLIGLD

@WeveTal &evall; LIeVFE Q&L LIT Q&HeTenll — 6T60Ts QST ML LmLedeor ou@flwi :

Al Lmp@w

{xz S@®. 6. &
53 S eilLnevorf]
A4 L
. &C6VITE ! MhI& 60T

"WIT&MTERILD [BITLITLO6V 26T [TITLOIT6Y 6T60TG) 60T IT(H 6 65T
FMTHSIEM600T LD H6V6VMTS "
- @&Gmerfley FHMEETHeT BIFLILIG :

Al
L )
A2

LDGOTLD

A i

4
QT

HBISET, @TUIlm, LD 6T60T G)WMEM &ML GUTDE SIS TS QGTLIHIGLD BT 615 ?

Al govess
fAz FelILIGH&TTID
53 CaHeUmyLd
A4 . L .
7 B(SQS ML LI T6uorLd
Choose the correct word which is not the synonym of 'Ample’.
1 .
Restricted
.'AZ Generous

'A3 Great

‘_A4 Plentiful

Give adjective form of the given word 'amusement'.

‘61 amused

A2 amusing
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63 63
64 64
65 65
66 66

3 amusable

4 .
amusingly

Choose the most appropriate preposition for the following sentence.

"The final match will be held India and Australia".

Al
. among

52 between

A3 ith

A4 .
. since

Answer the following question.
Define Rhetoric.

'AI The art of using writing

52 The art of using listening

53 The art of using reading

‘64 The art of using eloquence

Pick out the related word :

Pig : swine flu, Dog : Rabies, Rat : ?
‘_Al Malaria
Dengue
3 Typhoid

4 Plague

Choose the correct synonyms for the undertined word.
With this princely sum.

Al
. very small

A2

very large

.AS very safe

A4
. very casy
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67 67 Choose appropriate linker and complete the sentence.
T was not well, 1 did not attend the class.

Al
. so
A2

and

A3
fA4 because

68 68 Satellite photographs help us to predict tomorrow's
‘,Al Weather

éz Climate

3 Season
4 Rainbow

69 69 Fill in the blank with suitable option given below.
Nathaniel Hawthorne was .

‘_Al An American novelist

fAz A British novelist

53 A German novelist

64 A Bengali novelist

70 70 Which of the following sentences is correct :

'AI I and you loves music

,A2 I and you love music

_A3 You and I love music

You and I loves music

A4

7 Identify the figure of speech.
"All the world's a stage"

U Simile

2 . .
Personification
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72

73

74

75

72

73

74

75

A3 Alliteration

54 Metaphor

Choose the comect option by matching the
compound words.

(a) Baking Soda (i) Noun+ Noun

(B) Snow fall (i) Adjective + Noun
(c) Black board (i) Noun + Verb

(d) Eye sight (iv) Gerund + Noun

AL (-6, (@i, @)~ (0)iv)
A2 (b)), (e)-v). (@G, (a)-Gii
A3 @i, ()-Civ). (@-(i). (©)-0)
A (@G0, (-G (a)-Gv). (b))

Choose the correct expansion of the abbreviation AIBA.

fM All India Boxing Association

A2

.7 All India Base Ball Association

A3 All India Basket Ball Association

4 Association Internationale de Boxe Amateur

We'd discussed this point ourselves many times over the past months.

Al
. among

A2 by
53 between
A4
Give the synonym for the word 'damaged'.

! stipulated

A2 Gilapidated

3 inculcated

4 renovated

GET IT ON
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76 76 What does the underlined word mean ?
The policeman on the beat moved up the avenue impressively.

! Moving around hitting everyone with a stick.
A2 . .
.~ On duty walking around the assigned area.
3 Marching with his heart beating fall.

4 Hitting the culprit with a stick.

71 71 The method of tree ring dating is called

! chronology

52 data chronology

53 Dendrochronology

4 Gelotology
78 78 The auxiliary 'Dare' does not come under :

_Al Semi - modals

A

2 Quasi - modals

fm Marginals

4 Prepositions

979 Fill in the blank with correct tense with the help of the words given in the brackets.
When Usha looked out of the window, dark clouds (gather) over the mountains.
1
gathered

2 have gathered

53 had gathered

4 gathers

80 180 Find the synonym of the underlined word in the following sentence.
.... then as trade slackened we went out.

fM Closed

2 Deserted
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A3 Reduced

54 Slowed

81 81 Choose the appropriate modal verb from the given options.
Rani cook carly in the morning when she was young.

Al
. can

..AZ used to
A3

will

64 ought to

82 82 Pick a suitable prefix for the word 'true'.
Al
o ore
A2 .
A3

non

A4
. un

83 83 The poem that start with the line "There once was "or
"There was a "

Al .
. lyric
2 .
epic
3. .
limerick poem

4
sonnet

34 84 Pick out the odd one from the following words.

Al Reliable

{\2 Trusty
63 Sincere

64 Deceitful

85 85 Choose the appropriate question tag and complete the sentence.
"There are some books on the table, ”
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Al aren't there ?

52 are there ?

"A3 is there ?

54 were there ?

86 86 Identify the participle in the following sentence.
The Wrecked sailboat washed up on shore.

"A ! Washed

Sailboat

A2

63 Wrecked

54 Shore

87 87 Choose the right conjuction :
Everyone likes him he is very helpful.

fM As

A2 Since

3
because

A4

88 88 Syllabify the word
"heterogeneous" :

1

he-ter-o-ge-ne-ous
2

he-te-ro-ge-ne-ous
3

he-tero-ge-ne-ous

64 he-ter-o-ge-neous

89 89 Find out the appropriate determines for the following sentence.
'The teacher gave student a separate topic for the assignment.'
1
every
fAz All

3
many
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4
some

9 90 Frame a new word by adding a suitable 'suffix' to the root word "Auto".

fM mat

A2
. cracy

‘_A3 fancy

A4

91 91 X and Y together can do a piece of work in 6 days. Y alone can do it in 15 days then, the number of days that X alone to complete the work is :

X l0MHMID Y @ @GelBLh @) eneThal e(H Calenevemnill 6 BITL&efley g LIy, Y L (G SeflGW 3ih& Galemeven L
15 BTL&erleL Wlg L. ereofleb X L (G &6l 255 GeUemeVen WL (L1985 LD HITL 8561160 6T600T60011 56018 21, 60TSI

Al g

8
A2

A3

A4

14

92 92 If 81 women working 8 hours a day can do a work in 26 days, then in how many days will 52 women working 9 hours a day can complete the

same work ?

81 QLIETITEET 62(1H G6UEM6VED LI BTG ETTETMIS G 8 Lneol] GHILD Ceuemnsv Q& WIS 26 BTL G660 (LOIQLILIT 6Teofl6, 52
QLICTITE: 6T DG CaUemEVen L [FITRETTETMIS G 9 06wl GBI Gl QFUIGI 616G a6 HITL &6rflev (LoIg LILIF ?

?M 48 days
48 IHITL_& 6T
_A2 52 days
52 BITL&6T
.:A3 60 days
60 [BITL_&6T
_A4 36 days
36 BITL_&6T

93 93 Which one is not a Pythagorean triplets ?
etraumelsoreumlev 6ra1 LG MGa TG eLRETMET Q&TE S &H6T S(606V ?

Al 345
3.4,5
A2 12,1620
12, 16,20
A3 10, 15,25
10,15, 25
A% 6810

6,8,10
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94

95

96

94

95

96

Identify the correct front view,top view, and side view for the solid.

S

Front view  Top view Side view

Fflwume WwsLYUEEsTHoW, CuaLsssEsTHnD , UEE surl(hiiCsThHnb
Py
]

SETEETE. I

Front view  Top view Side view

.
[T

A2 ]

A3 —

ELEEE

[ O Lo

H 3

if half a meter of cloth costs T 30 find the cost of 8—; meters of the same cloth.

aeng BLLT giemflullsr eflensy T30 eresflsy 8% Loy Bemupster 24Cs siemfluller

aflenen ersiTenr?

Rs. 500
Rs. 500
Rs. 600
Rs. 600
Rs. 450
Rs. 450
Rs. 550
Rs. 550
The standard deviation of 8, 8, 8, 8, 8,8, 8, 8, 8

8,8,8,8,8,8,8,8,8 60T FI_LaN6VEHELD :

Al
0

A2 g

GET IT ON
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97

98

99

100

97

98

99

100

A3

Ay

1

Which of the following is incorrect ?

L9 65T6M (B 6 6TTRU D MIET 6TSI HRUMTETSI ?
'Al A tangent to a circle will be perpendicular to the radius at the point of contact

Il L HeT gCHemIlh (i Leimarflulley euemgwiiLil L QamHC&TH), Qs m@H L erarf eullld Q&b
2AISHDHEGF QFRGSSTGLD.

A2 . . .
_ 7 Two tangents can be drawn from any exterior point of a circle

AL LSHDHS QeueflGw siemnbg LieTefluled®hg aul LGHMES @ Teuor®h QHTH G TH &6 6UemTUELITLD.

63 The lengths of the two tangents drawn from an exterior points to a circle are equal

QaueflliymLl Yemerflulled®BEa Ul LEHME& euen WLl L @ QSTHCHM(H &6l BeThigGeT Floln.
54 Two direct common tangents drawn to two circles are not equal in length

QI LBIGEE5E alemTWLILL L @reor® QUTSelmeT Q& THCSHTH g 6rfler HaTmhigeT FInlneu6y.
If Rs. 6400 is divided among A and B in the ratio 5 : 3, then A's share is :
Rs. 6400- 83 A L0MHMILD B @\ (B BLIT&HEH8G 5 : 3 6Term R G5H 60 LNfl5 516 QaTHhSSTe , A-&EG RenL &G0
QBTN 6T6UAIETEY ?
Rs. 400
Rs. 400
Rs. 240

Rs. 240

A3 Rs. 4000

Rs. 4000
A% Rs. 2400
Rs. 2400

The unit digit of 11720 is :

11720 65T RESTMITLD E)6VEHLOTEUTS -

Al

7
A2 3
3
A3
1
My
9

The sides of a right angled triangle are in the ratio 8 : 15 : 7 and its perimeter is 150 units then, the sides are in units :
62(h QFBICH 6T (LN&CH: TeooTS F) 60T Lig G MmIgG6flar allGEISID 8 : 15: 7 IDMHMID JH60T &FHMETE] 150 3160& 6T
6T60T16V, {5 60T LIG: &G 6T VG HET GLD.

Al 16,30,34
16,30, 34
A2 80,150,170
80, 150, 170
A3 40,90, 34

40,90, 34

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

101

102

103

104

e

101

102

103

104

A4 40,75, 85

40,75, 85

The chord of length 20 ¢cm is drawn at the distance 24 cm from the centre of the circle. Find the diameter of the circle (in cm) ?
QUL L SHeT emld s H 60 BESI 24 cm Q& Meneuel6l 20 cm BT 6TET HTewor 6uem FWLILIL (H6Tema! eTevfl6L
Il LSHer el LD (Q&F. LS -60) &IT600T8 :

Al o6
2
AZ 54
2
A3 5
52
A4 5y
54

If P(x) and Q(x) are two expressions of degree 5, then degree of P(x)+Q(x) is :
P(x) LDMHMILD Q(x) 6TedTm B&smemeusserfledr Lilg. 5 eTenflev, P(x)+Q(x) 60T LILg.,

Write the unit digit of the number 910,
9100 ¢re5Tm) 6T6UOTE00I 60T RETMITID B)6VE: 5SS 6T(LDSIS.

Alg

9
A2 3
3
1
Ay
4

An integer is chosen at random from the first ten positive integers. Then what is the probability that it is multiple of three ?
WS 10 e & (W 6TetorS 6160 @) BIHS! ([ 6T600T ST HASH &SGR MS! 6T6vflev D HG 6T600T eLO 60T 60T
IDL_BI& TS @) BLILIGMETET &N S S 6| eTeTeor ?

Al 1
i g
1
2
A2
3
1
3
A3 2
T
2
10

A4

GET IT ON

Google Play
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105105 Which of the following is not an ungrouped data ?
L9 60TeU B 6UEDToU D MIET 618 QB TGEHSLILILTS SI6) {6060 ?

! Histogram
Bl&LD6F QF6lalsID
‘_AZ Line graph
CBIHEHTLGILI LILLD
A3 Pictograph
LLeN6em&:a (Lpemm
"A4 Pie chart
QL afleTsasLiuL LD
106 106 Midhu, Devi and Selvi can complete one round of a circular track in 10,15, 20 minutes respectively. If they start together at 7 a.m from the
starting point, at what time will they meet together again at the starting point ?
1081, Caell InHMID QF6ve] LGB CWITT e el L allgeileument e(MILIMeng U6 e &mhemm WenmGul 10, 15
WMHMID 20 BILAL &6 &H (&R ETM6TT. SeuF&H6T QB ML &L LaTefluilley &meney 7 Lemll& @ @eTmmTeHe
&FHMG QS TLHEIGR 6T, 36UF&HET LST(HID 6TICUMS QML &S L6Teflullel ReTmme:d &hS LILIMTE6T?
fM 7.05 am
7.05 . U
62 7.20 am
7.20 p. U

A3 §00am

8.00 . LI

54 7.45 am

745 @, U

lo7 107 2a% - Tab+b? + 6ab - 262 + abisa :

2a% - 7ab + b2 + 6ab - 2b + ab 6TEITLIGI R :

! Monomial
@HOILILGHCHTemE

2 Binomial
FFBOILIL &GS TetI6l

3 Trinomial
e MILILIGCE M6l

{M Polynomial
LeveMILIL| & G5 TerI6l

108 108 The sum of the least two successive two digit odd prime number is :
@reoor(y QsTLIFR W e WsEH MW G Tevor( @)ev&H s RMeNMLI LIGIT 6T600T8 611 60T Fo () SH6V :

Al 5
21
A2 o4
24
A3 g8
28

25

A4
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25

109 1109 Kala bought a circular ribbon roll of length 572 ¢m and radius 7cm. How many circular rolls will she get ?

HEVIT eTadTLIRI 7 QF.LS b T(LD, 572 Q& .18 BeroLh 2 6o (b UL L F& BT &L el aumhG erTy. @5 69 BHS!
36U 6THSHEMEIT QUL L & ([HETHEMET QLM (LPLGU|LD?

Al
A2
A3

A4

13

110 110 From one vertex of an equilateral triangle with side 40 cm, an equilateral triangle with 6 cm side is removed. The perimeter of the remaining

portion is :

40 QF.15. IG5 3|6Ma6TET (h FLOLIG S (L& CEH TS H 60T [H (Len6TUNeBH S 6 Q& .15, LIg 8 W6TET (6
FIOLIGS (P&BSMeuord B&H&LILIGGEMS! 6reoflel LSS 2 616 LIGH uN6r &mmere].

fM 112 cm
112 Q&.10.
52 116 cm
116 Q& LS.
53 118 cm
118 Q&.15.

A4 em

114 Q&.18.
e If A represent +, B represent x, C represent -, D represent +, then 4B3C5A30D2 :

A &G LS + 6Terayld, B &@& LIF6L x 6TerayLd, C &G LIF6L — 6Teoreld, D &@& LI 6V + eTeuTe) D 6T(h & S18
@ &5IT600T L_T6L 4B3CSA30D2 6TedTLIS ! :

Al y

4

AZ

A3
Ay

22

12 112
In the given figure RS is bisector of ZR. IfPS=3ecm,SQ@=4cmand RQ=écm

find PR 2

P 3cmsS 4cm Q
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uLSElsb Clamplasiul Hlererg Uy £R 60T @(H FwGleully RS @y, PS =3
GlE.1f, 5Q = 4 Gl&.1f whmib RQ = § GF.15 ererflsh PR -sows smemrs.

P 3cms 4cm Q

Al 35em
35 Q8.8
;AZ 2.7cm

2.70&.18
53 7.9 cm

79 Q&8
;A4 4.5 cm

45 Q&8

n3 i3 The difference between Simple Interest and Compound Interest on a principal at 15% per annum for 3 years is Rs. 1134, then principal is :
15 % <21,600T(h 6UL_19UI6D 3 LT (HHEBEHS PGS H6ofleul 195G ol HleULl 19 H G0 G L Guiu|6Ter
NG WITEFLD Rs. 1134 6T601160, {&F6V :

Al Re.16,000
Rs. 16,000
A2 Re.15,000

Rs. 15,000
A3 Rs.14,000

Rs. 14,000
A% R6.17,000
Rs. 17,000

14 114 How many lakhs are there in 7 billion ?
7 96060 WI6tT eTevoTaunI16L 6185 60)60T @) 6UL_&ThIG6T 2_6TATeT.

AL 5 000 lakhs
7,000 @)6VL_& B &5 6T
AZ 70,000 lakhs

70,000 @)6VL_&F MBI 6T
A3 200 lakhs
700 @ 6VL_& k& 6T

A4 70 lakhs

70 @ 6VL_F & 6T

15 115 In a farm there are some hens and cows. Sum of heads are 77 and sum of the legs are 248. Then find number of hens in farm.

62(1H Lictoremevoruilel Hlev CaMAl&@BLD MBS EBLD @) (HHS60T. SieuD M6 QDTS S 5601608 6rfledr eTetorenol66m8 77.
GLOQILD QOIS G &6V & 6N 60T 6T600T600T 85 6M& 248 6T60T160 )L ILIGvoTem 60T UNN 6L 2_6iTerm G & ITLA G611 60T 6T600T 60011 8560 &
GTEOT6UT ?

Al 0
20
A2 4
30

A3 s
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116

117

118

119

e

116

117

118

119

45
A4 59
50
If x% of 600 is 450, then find the value of x.
600 @) 60T x% 6TEOTLIGI 450 6Tevll6v, x @)60T DG LI6ILIS &T6UoTSs :-

Al 60
60
A2 45
75
A s
45
A 100
100

property is not true for division of rational numbers by the number zero.
NGNS LI 6TETOTE @55 G L, 383 WILD 6T60TM) 6TE00TE00T T6L 61 (& & &6V LI6GDOTL| 2_600T6MLO UL TS TSI,
1

closure

enL Ly
A2 L
) associative
GFryLuY
A3 .
. inverse
GBrLmmY

54 Identity

&FLoeofl

The probability of getting a face card from a pack of 52 cards is :
2@ FL(HSHLI60 52 B (H&E6T 2_6T6T6r. HeL @b LLFFL L 61(H&S BlHLNSHHE)] :

Al

A2

| = &= @ Ze

[55]

A3

ol w

olw

A4

o &le

GET IT ON
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120

121

e

120

121

The incentre of the APQR is :

P
u/2%020
N
AL
5
3002
300
Q M R

GleThHlsslulL WaEsTeTD APQR 66T 2 6Teul L 6nLOWID ©

P

/2020

302
3090

AN

z

A2

A3

M
A
T

Length of the arc of a sector is 44 cm. Perimeter of the sector is 86 cm. The central angle of the sector is degree.
Il L G&smeoorll LGS uller aflevedler Herin 44 Q& LS LDMHMILD G 60T SMHMeTe 86 G1& .15 eTevflev UL L
G55 MeuorL1LI& S udledr 60101185 &5 meuorLh 19 R flufev &evorss.

Al 190

120
A2 13
130
A3 140
140
A4 50
150

The moderator in the Nuclear reactors are used for the purpose of :
91EWIGG(H 2606056160 G600l LI LITET&H 6T 6T60TLIEn6U GLD&60ITL 6T[H& 6(H GlFWEVLITL 19 & MT&H
LweTU®SSLILO&H S ?

fM Absorbs more number of excess neutrons
SIHGLDITET BIUL[JIT6TS M6 2L Sal(HLD
2 Increase the Kinetic Energy of the neutrons
Bl yreraerfler @ W& s shmens HH&NERMmE
3 Decrease the Kinetic Energy of the neutrons

Bl L ymergserfler @uiss QLM MR MmE!

GET IT ON

Google Play
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A4 Increase the number of neutrons

BIWL_[TTeoT 8 6rfl 63T 6T600T6001) 85 6008 600 Wl 2| ) & [f1 85 60T M Sl
122 1122 The amount of heat energy required to raise the temperature by 1K of 2 kg of water is :

Y kg Blempwyemer Hifledr QeuliLiBlemevenl 1k 2 WIFEHE GG emauTeT GleuLiL! oy, mmedledr 266y 6TedTeor ?

AL 42007

42001
A2 10007
1000 7
A3 84007
8400
A% 91007
21007

1231123 Three 3 Ohm resistors are connected serial and then parallel. What is the ratio of the resultant in serial and parallel combination Ry : Rp is:

eLnetTol 3 L Ll6tTH ML G6T (& 6dlev QS TLflemenor LN awid LNedreory LIg& @) emevorLiLewin

Qem et SUILIG S STMET. UM ASTGSUWET QG TLfleneuorliL], L& & @enemTliL| LEleTHmL&E@bh&HE (R : Ry,)
@ 6L Guiwmer e&ESLD :

Al
A2

A3

A4

1:9

124 124 The Radius of the fifth orbit of Hydrogen atom is 13.25 A. The wavelength of electron

in that orbit is :

EEU L [TER60T Syamielledt 5 Qg & HmILIMen g UTedT Syt 13.25 A eTeolleh 24d & mmiLimemauilsy
2 @167 eTeud L T meoll 6t jemeuiBeTih -

Al 664 A
16.64 A
A2 1684 A
166.4 A
A3 2980 A
29.80 A
A4 085 A

298.5 A

125 125 Presbyopia eye defect can be corrected by :
il ghLem6aS Hm6T GemmUTL Igemer &l QEFUlag! :

! Convex lens
&6 QeveiTeny
2
Concave lens

&L QevedTeny

A3 Bifocal lens

@ ® Gl GeVeaTEV & 6T

A4 .
. Concave mirror
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G @plg

126 126 The value of permittivity of free space :
Qe &G et NS medr LoGILIL :
Al 1
© 0T %9 % 10° N2
1
" 4w x9 % 10° Nmc2
A2 1
FT X 9x 107 N2
&= ]_9 =
47 % 9% 1077 Nmc 2
A3 1
Y 4w x9x10° N 2c?
1
47 % 9% 10° N2

A4 1
. &=

g0

Ep= 3

4w x 9% 1077 Nmi2c?

.
0= — —
4w % 9% 1077 Nmi 2c?

£

1271127 If an object is dropped from the top of a building it reaches the ground at t =4 s then the height of the building is : (ignoring air resistance) (g =
9.8 ms2)
QUITBET etTMI &L19 L SH 60T 2 FFR Ul BHa HC elWHMma!. HLIGQUMTHET 4 elerTIquie) Henyemnil
SIEOLHSITEV &L19 &G 60T 2_WIFLD 6T60T60T 2 ( HTMHMIG 6oLl LM&:&600118:8) (g = 9.8ms 2)
{U 77.3 m
773 m

A2 284m

784 m
A3 80.5m
80.5m
A% 290m
792 m

128 128 NH4O0H + HNO3 — NH4NO; + H,O Above reaction is which type of the reaction ?
NH,OH + HNO; — NH,NO; + H,0
GLOMEE00TL 6l6M60T 6T6U6EUME 6leMeTem W FMTHSHS! ?

! Precipitation
afLD LI 6UITE & 60

fAz Combustion

erifl5 60 eflement
53 Neutralization
BOHBlemEVWITES6V 6l 6m6or
4 Decomposition
Flen g6 6ilev 6ot
129 1129 The gascous Element has the electronic configuration 2, 6, the element belongs to the family of :

62([H HeUTILOLD 2, 6 6T6OTM 6T6VE L6 eMLDLIL] Q& TEU0TL 6UMUL &L, 1SS SH T G / GHIDLILD :

‘_Al Halogen
o 111 Yesf &6l
'AZ Noble gases

0BG 6UITU|& 6T
A3 Chalcogens
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FMevGas Ty 60T
54 Nitrogen
MBL [T E360T

130 130 Which of the following reagent converts sodium acetate to methane ?
BLDEHSHETL 6THS HTIeunil GFMQWILD NP CLL L 5CH6TTE LTHMRMS! ?

fM Conc. HySO4

SILJ HySO,

A2 KMnO,/OH"

KMnO,/OH"
A3 NaOH/CaO
NaOH/CaO

A% 4il. H,804

BI&s HyS0,

131 1131 The metal which is mostly used in the construction of building. This metal reacts with moisture to form hydrated brown coloured oxide. The
chemical name of the oxide is :
SLIQLLD L BauFev AH&D LweTUG LD 2 CeumshLInmeTdl FiFd &rmhmil et ellenerflbg Ll Blm BErmlw
UGEMFDLE SHRMS!. DS 2,860 F 1960 CeuHL QUi :

{\1 Ferrous oxide
QU6 Y& (H
2 Ferrous dioxide
QU6 L 2,5 F (B

‘_A3 Ferric oxide

QUIH& aLE&amF®

A4 Ferric dioxide

Quifls el &EamEwH
1321132 The general electronic configuration of Boran group elements :
GUITT M6 QFMESGSH) &e6vflnmigerfledr G\LIMGIedmeor eumILILIT®) :

0

Al
7 ns2np!

ns?np?
62 ns?np!
nsZnp!
53 ns2np?
ns2np?
‘:\4 ns2np?
ns2np?

133 133 Which is to resist changes in its pH on the addition of an acid (or) Base ?
Sldlevld 6LV G CFTLILGETTEL gHUGLD pH LDTMHMENS &H&HE 2 H6D HETF6 :

'Al Acid Solution
Il6v& HEOTF
§A2 Buffer Solution
SMHISHE) HEMTF)
53 Base Solution
ST &HEMJF 6V
A4 Salt Solution
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2 LIL|& SHenJFey
134 134 Total No. of atoms present in BCC unit cell is
BCC S16V& 8 Fal 196V 2 _6T6T QLOMTHS g{@usasaaﬂem 6T600T 60011 856008

Ay
1
"
2
Ay
3
Ay
4
1351135 Siderite belongs to which type of ore ?

FLem L LN 6Tl [BeleTeUHmIET 6THEH MW SIS Qe el FTTHES ?

AI Sulphide ore

FOmL® HMsl
.AZ Halide ore
Gamemeu( STl
?3 Oxide ore
2UHOF0H HTS

4
Carbonate ore

SMTTUGCETL. HMal

136 136

Anemophilous pollination is the characteristic feature in :
STH6OT eLNGULD IDSBTHS CF T8 6Mm& Heo)LGLIMILD LI6voTL| 8 Mevor LILI (D6 :
{\1 Algae
um& &6
éz Fungi
LL,(6H60) & &5 6T
"A3 Bryophytes
LNemyGuim &L ([H&6T
64 Gymnosperms
2SNDGeoTMEV G LT LD & 6T
137 137 Guttation takes place through specialized cells called :
B 6ulq&6L eTeueUem s FAMLIL] QFV&HETTEL BlSBDHCSURMS! ?
AI Stomata
B MV G Sl6m6T
‘62 Hydathodes
amamL G mH &6
‘,A3 Hylum
AMEULD
:A4 Micropyle

LGB TemLIGY

138 138 Pollen tube which emerges the ovule through the
&([H6YMIGe0 6T CLIMSI D& HSEH GO @) & 6o eugj]u_lrraa &Nemerr QFTHEn L BMmS! :



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

139

140

141

142

e

139
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AI Chalaza
&evlg
.'/\2 Integuments
G&GIenm
63 Micropyle

G0k
'A4 Secondary Nucleus

@) JeOOTLITLD [Blemev 2 L& (B

Identify the incorrect statement/statements.

(a) In clitoria, filaments of stamens connate into three bundles.

(b) Connation product of stamens and stigma is called gynostegium.

(c) Pollen grains are fused together as a mass in Hibiscus.

(d) Stamens are adnate to petals in Asperagus.

HEUMITET T DM / For (D MIGHEDIGT &600TLMIUIGYLD :

(a) BemerGLMAlwmellév D& TS5 M6 60T L& T HS LD &6 )60 6tuTES) LD 6ITMI &M 6N M &g &
&meoor LILI(H)LD.

(b) LD&TIHH S G T @B LG0T G6V(LDLY. @)60)600TH S 2_(HEUTAIS! 60&CeTTavIe D 3L GLD.

(¢) D& HS S BTETHET R60TMTE @) 60600 H S RCT QFMTGSLILITG enamLilevgendley &memoriLI(ID.
(d) SJevuITTEHeOl6L D& T HS S S TS 6T 216060l @)L 8 E5L60T 6L19.8 & mevorLILI(hILD.

1 statement (b), (c) and (d)

D! (b), (c) LHDILD (d)
A2 Gatement (a), (c) and (d)
DMl (a), (¢) DHMILD (d)
:A3 statement (c) alone
Gl () LD

64 statement (b) alone

Fadmi (b) LG
When a living plant cell is placed in a hypertonic solution water molecule moves :

2(h HMEUT QF6 ADLITL ME(18 Henaedley emelsGLEUMEI B eTeleumm &LGSLULGHMmES! ?

AL Gut of the cell

QFNBHE B QeleflGUMIBMSI

A2 Y1side the cell

QaueflGW @ BHES QFusGE BT QF&HMmS
A3 Both side of the cell (in and out)
Q&F6ed6T QeueflGU MM 2 6TC6T BT QFLH MG
54 Never move water molecules
BT eL06VE T MIGET 65 TEUS6V60IEL

What happened to a normal plant cell kept hypertonic solution ?

62(1H @) WELLIMET QFEM6 emamLILITL Meofld Henrgedley anels@&GLLEUMSI SFQ &6 HanLQUMILD ellenerey :

fM Plasmolysis
emmeuinm Reng el
‘:A2 Deplasmolysis

emmevinm Renga| LS
53 Endosmosis

2 L Feua( LITealey
‘:\4 Osmosis

Feuay (b LITeley

Anthraguinones present in :
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2,155 Gy M@ Ul Gevrmedr 6V ST LIS M.

:AI Tulsi
SleTH
62 katrazhai
SOOI
"A3 Nilavembu
BlevGeulbLy
'A4 Nannari

BeoTeor ifl

It is very difficult to prepare a common vaccine for common cold - why ?
Frg e Feflé@ SO UL GBS SWTLILS &1960TL0METS! 6J60r ?

‘,Al It's RNA genome keeps changing due to mutation

@)560T RNA &G Mid QST HE HICT LOMMHMLOEML6)GT6D
52 It's DNA genome keeps changing due to mutation
@)560T DNA 25GeorTID QSTLIHS! SRy IDTHMLIDEDL STV
3 Due to frequent climatic changes in the different part of the world
2 G 6T LILGCaIM LIGH&6flev &mesor LG Q&TLT S&MeuBlenev TMHMEETe
‘_A4 It has no genome
@B5MES BCETITID B)6V6VITSH STV

Pernicious anaemia is due to the deficiency of this vitamin :

2 Wenpll GUTEGL @IS5CETms G 6uenall L LT GenmUTL LM gHLUGOSH mS! :

Al

A2

A3

A4

Dentition in human arrangement and number of incisors, canine, premolars and molars are :

10601 B 6011607 Lish e LILN6 Qaul_(HIh LIM &6, GHMen JLILIMSET, (LD60TSL6U MU LIM&ET M mid LN60T SLeumuill

umaserfler aurflena oemnliL] DMHMILD 6T600T600T 66015 :

Al

o 2232 0o
T
1232 _14x2=32
T

A2

i 2213 _qgxo-3
2,21,
5213 _jenm=30
2,21,

A3

2132 g4xo-32
2 13,
- 1'3' =16x2=32
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A4

: 2123 _j4x2=32
% .23
M=]6x2=32
2, 1.2.3

e Ly

In curing of Coffee beans and tea leaves, special aroma enriched by :
& Q&ML HaIb & @6 USLLGSSID CUIMS GG L0M6T HMILD6uTSen s 26rflliLgi :

Al .
Saccharomyces cerevisiae

FI&HCITaFa QFFalFAGW
62 Aspergillus niger
Sy6nuLIFeS6L6VEN EDBE T
53 Bacillus megaterium

SCUTLeVEV QST flwb

A4 Lacto bacillus
UMEGLIT &CLFILevE
innervates the muscles of Iris.

AP sRHenguller semng BIseT QFwelflw 2 Feayeug :

_Al Spinal Nerve
SeoT(H\6UL BILDOL
‘AZ Cranial Nerve
&LIM6V [BITLOL

63 Sympathetic Nerve

urfley by
54 Parasympathetic Nerve

a®j uifley HybL
is not an indigenous Honey bee.

@8 2 6Bl [HS CH 60t U {606V :

"Al Apis dorsata

gulev LTFGFL LT
flu Apis flora
gilev LGermilwim
_A3 Apis indica
L6y @) 6ooTIq ST
_A4 Apis mellifera

gLilev Qsbeds@uT
Find the correct sequence of major reproductive events in human being :
eoflgefleL Blas W WEH W @ eTLIOLIHSESS Blaheayserflear Filwmer euflengemnil 6ipsis :
! Gametogenesis — Cleavage — Fertilization — Organogenesis — Parturition
@ TFQFE 2 (HaUT&H&ID — LNaTa|lIQLI[H&H6) — SHIHeUMISE — 2 MILILITSSD — I0&LIGCLIMI
2 Gametogenesis — Fertilization — Cleavage — Organogenesis — Parturition
@ UTFQF 2_([HaUTSHELD — HHa NS — LNeTalIQLBHSE — 2 MILILTSSID — & LIGCLIMI
'A3 Fertilization — Cleavage — Gametogenesis — Organogenesis — Parturition
&HeYMIGH — LaTey IO LHSHO — GTFQFN 2 (HEUTHSID — 2 MILILMSSLD — In&SLIGLMI

4 Fertilization — Cleavage — Organogenesis — Gametogenesis — Parturition
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SHHeYNIFH0 — LaTeiQLH&H — 2 MILILTGSLD — GeTFQF6 2 (HauHhSID — I0&SLIGLMI
The hormone produced by the pineal gland mainly in the dark night is :
Qeueflgaidleveuns @rey CHIMmIGeT 6 Llefluwey &Ll &r8ELD ammyGLITeT :

Al .
. oxytosin

21,56 GLT& 6T
Az melatonin

Qo6VLGL mevfledr
A3 .
.7 melanin
QILevesfledr
A4 .
. vasopressin

MG LN yerverdeor
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